Settings

Data Rate mp_rate mp bandwidth
| 2 4OM:O,shortGI:()"

P 4] 40M=0,shortGI=0
CCK_RATE 5.5 11| 40M=0,shortGI=0|
11 22|  40M=0,shortGI=0

6 12| 40M=0,shortGI=0
9 18]  40M=0,shortGI=0|
12 24 4OM:O,shortGI:OH

18 36| 40M=0,shortGI=0
OFDM_RATE 24 48| 40M=0,shortGI=0|
36 72| 40M=0,shortGI=0||
48 96| 40M=0,shortGI=0||

54 108] 40M=0,shortGI=0

MCS0 6.5 128]  40M=0,shortGI=0
MCS1 13 129]  40M=0,shortGI=0||
MCS?2 19.5 130]  40M=0,shortGI=0||
Long Gl |-MCS3 26 131]  40M=0,shortGI=0||
MCS4 39 132]  40M=0,shortGI=0||
MCS5 2 133]  40M=0,shortGI=0||
MCS6 58.5 134]  40M=0,shortGI=0||

MCS7 65 135]  40M=0,shortGI=0

20MHz MCS0 7. 128]  40M=0,shortGI=1
MCS1 14.4 129]  40M=0,shortGI=1

MCS2 21.7 130]  40M=0,shortGI=1

MCS3 28.9 131]  40M=0,shortGI=1

Short GL 1156 433 132]  40M=0,shortGI=1

MCS5 57.8 133]  40M=0,shortGI=1

MCS6 65 134]  40M=0,shortGI=1

1X1 MCS7 722 135]  40M=0,shortGI=1
Antenna MCS0 13.5 128| 40M=1,shortGI=0
MCS1 27 129]  40M=1,shortGI=0||
MCS?2 40.5 130]  40M=1,shortGI=0||
Long Gl |-MCS3 54 131] 40M=1,shortGI=0|
MCS4 81 132] 40M=1,shortGI=0|
MCS5 108 133] 40M=1,shortGI=0|
MCS6 121.5 134] 40M=1,shortGI=0|

MCS7 135 135] 40M=1,shortGI=0

4OMHz MCS0 15 128 40M=1,shortGI=1
MCS1 30 129 40M=1,shortGI=1

MCS?2 45 130[ 40M=1,shortGI=1

o | MCS3 60 131] 40M=1,shortGI=1




DIVIL Ul

MCS4 90 132] 40M=1,shortGI=1

MCS5 120 133] 40M=1,shortGI=1

MCS6 135 134] 40M=1,shortGI=1

MCS7 150 135] 40M=1,shortGI=1

MCS8 13 136] 40M=0,shortGI=0

MCS9 26 137]  40M=0,shortGI=0|

MCS10 39 138]  40M=0,shortGI=0|

Long Gl |MCS1 2 139]  40M=0,shortGI=0|

MCS12 78 140  40M=0,shortG1=0|

MCS13 104 141]  40M=0,shortG1=0|

MCS14 117 142]  40M=0,shortGI=0||

MCS15 130 143]  40M=0,shortGI=0

20MHz MCSS8 14.4 136] 40M=0,shortGI=1
MCS9 28.9 137]  40M=0.shortGI=1

MCS10 433 138]  40M=0.shortGI=1

MCS11 57.8 139]  40M=0.shortGI=1

Shot GL 7y es1) 36.7 140] 40M=0.shortGI=1

MCS13 115.6 141]  40M=0.shortGI=1

MCS14 130 142]  40M=0.shortGI=1

2X2 MCS15 144 143]  40M=0.shortGI=1
Antenna MCS8 27 136] 40M=1,shortGI=0
MCS9 54 137]  40M=1 shortGI=0||

MCS10 81 138]  40M=1,shortGI=0||

Long GI |-MCSLL 108 139]  40M=1,shortGI=0||

MCS12 162 140]  40M=1,shortGI=0||

MCS13 216 141]  40M=1 shortGI=0||

MCS14 243 142]  40M=1,shortGI=0||

MCS15 270 143]  40M=1,shortGI=0

4OMHz MCS8 30 136] 40M=1shortGI=1
MCS9 60 137]  40M=1,shortGI=1

MCS10 90 138] 40M=1,shortGI=1

MCS11 120 139] 40M=1,shortGI=1

Shot 6Ly ics12 130 140] 40M=1.shortGI=1

MCS13 240 141] 40M=1,shortGI=1

MCS14 270 142]  40M=1,shortGI=1

MCS15 300 143 40M=1,shortGI=1




